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int i; TR

for (i=1; 1i<10; i=i+2) {
cout << "\n i=" << i;
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for (i=0; i<3; i++) {

cout << “a”;
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cout << “a”;
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cout << “b”;

33
RE

o FHEALTEAZAE - FEEGERm LTS -

[10, 11, 12,13, 14, 15, 16,17, 18, 19,

| 10, 12, 14, 16, 18, 20, 22, 24, 26, 28,

int i; [5. 10, 15, 20, 25, 30, 35, 40, 45,

for (i= ; ; ) 1 [45,40, 35, 30, 25, 20, 15, 10, 5,
cout << i << ", " ;
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cout << endl;
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i=1, #8fll=1
i=2, 48fl=3

i=95, 44fl1=4560
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int main() f

int i, total=0;

for (i=1; i<=100; i++) {
total = total + i;
cout << "\ni=" << i << ", 4Ef{l=" << total;
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for (i=0,sum=0; i<10; i=i+1, sum=sum+i) {
cout << "\n i=" << i;
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int saving = 1;
int total = 0;

for (int i=1;i<=30;i++) {
total = total + saving;
cout << "H " << i << " R o";
cout << "fEA " << saving << " J§, ";
cout << "#HF " << total << " JE" << endl;
saving = saving * 2;
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break / continue

« break;
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for (int i=1;i<=50;1i++) {
if(i%3 == 0 || i%5 == 0) {
cout << 1 << ", ";
}
}

cout << endl;
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int main() {
int i;
for (i=0;i<15;i++) { for (i=0;1i<15;i++) {
if (i>=5 && i<10) break; if (i>=5 && i<10) continue;
cout << "i=" << i << endl; cout << "i=" << i << endl;
} }
cout << "i-iEE45HE" << endl; cout << "i-iEREH4SH" << endl;
return 0; return 0;
}

break / continue
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if(i>=5 && i<10) break; 1=13
cout << "i=" << i << endl; 1=14
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cout << "i-RELEH" << endl;
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cout << “b”;

while =[]
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count=10, sum=10
count=9, sum=19
count=8, sum=27
count=7, sum=34
’ count=6, sum=40
) count=5, sum=45
int count, sum=0; count=4, sum=49
count=3, sum=52
count=2, sum=54
count=1, sum=55

cout << "HEGAEEEH: "
cin >> count;
while (count>0) {

sum += count;

cout<< "count=" << count << ", sum=" << sum << endl;
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int ans;
bool is0dd = true;

while (is0Odd) {
cout << "FHEIA—(EEE: ";

cin >> ans;

isOdd = (ans % 2 == 1);
}
cout << "{REGA T —{E{EZ: " << ans << endl;
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cout << “b”;
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cout << a << ", "
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a=b;
b=c;
cout << b << ", ";
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<< b<<",";
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cout << ERAGIET () " | COE (A
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cout << MHELAMIIE (AF): "5 | e 50
cin >> weight;
BMI = weight*10000 / height / height;
cout << "{FHY BMI {HA: " << BMI << endl;
cout << "FHE—ZGEER y: "
cin >> again;
} while(again=='y' || again=='Y");

return 0;
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cout << "HMA—EEHE: "
cin >> ans;
} while(ans%2 != 0);

cout << "{REGAT —{EEE" << endl;
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